

Cohomology and homology of finite groups

HW11 is now posted.

Addendum: the restriction/induction adjunction

Let $H \subseteq G$ be an inclusion of finite groups

Let M be a G -module, let N be an H -module.

Then $\text{Hom}_G(M, \text{ind}_H^G N) \cong \text{Hom}_H(\text{res}_H^G M, N)$

$$\text{Hom}_G(\text{ind}_H^G M, N) \cong \text{Hom}_H(M, \text{res}_H^G N)$$

In particular, if $N = \text{res}_H^G M$, get maps

$$M \rightarrow \text{ind}_H^G \text{res}_H^G M$$

$$\text{ind}_H^G \text{res}_H^G M \rightarrow M$$

$$m \rightarrow \sum_i m^{g_i} \otimes [g_i^{-1}]$$

$$\sum_g m_g \otimes [g] \rightarrow \sum_{g \in G} (m_g)^g$$

where g_i runs over left cosets of H in G

requires $(G:H) < \infty$

Extended functoriality for cohomology

$G \triangleright G'$ for 1st groups $M = G$ -module, $M' = G'$ -module

Can also $\alpha: G' \rightarrow G$ group hom $\beta: M \rightarrow M'$ homomorph of ab groups

with property that $\beta(m^{\alpha(g)}) = \beta(m) s'$
 $\forall m \in M, s' \in G'$ homomorphism of G' -modules

$$H^i(G, M) \xrightarrow{\text{Res}_\alpha} H^i(G', M) \xrightarrow{H^i(\beta)} H^i(G', M')$$

Extended functoriality for cohomology: examples

1. $\alpha: G \rightarrow G$ $g \mapsto h^{-1}gh$ $h \in G$
 $\beta: M \rightarrow M$ $m \mapsto m^h$
then $H^i(G, M) \rightarrow H^i(G, M)$ are identity.

2. $\alpha: G' \rightarrow G$, $\beta = id_M$
Res: $H^i(G, M) \rightarrow H^i(G', M)$

3. $H \subseteq G$, $Ind_H^G Res_H^G M \rightarrow M$
isomorphism
 $(\alpha: H^i(H, M) \xrightarrow{\text{isomorphism}} H^i(G, Ind_H^G M) \rightarrow H^i(G, M)$
with Res induced by $M \rightarrow Ind_H^G M \rightarrow M$ via $[G:H]$

Extended functoriality for cohomology: examples

Case: $M = \{x\}$
 H^{-i} } $H^i(G, M)$ is killed by $\#G$.

$$H \triangleleft G$$

$$\alpha: G \rightarrow G/H$$

$M = G$ -module

$$\beta: M^H \hookrightarrow M$$

$M^H = G/H$ -module

$$\text{Inf: } H^i(G/H, M^H) \rightarrow H^i(G, M)$$

Inflation

(Hochschild-Serre
Spectral sequence)

The augmentation ideal and coinvariants

$\mathbb{Z}[G]$ = group algebra of G

$\mathbb{Z}[G]$ = augmentation ideal = ker $\{ \mathbb{Z}[G] \rightarrow \mathbb{Z} \}$
 $\{ \sum m_g(g) \mapsto \sum m_g \}$
 = ideal gen by $(g) - 1 \quad \forall g \in G$.

$M = G$ module

$$M_G = M / M I_G = M \otimes_{\mathbb{Z}[G]} \mathbb{Z}$$

$$\uparrow = M / \left\{ \begin{array}{l} \text{ideal gen by} \\ m g - m : m \in M, g \in G \end{array} \right.$$

module of coinvariants

$$M \rightarrow M_G$$

Homology via projective resolutions

$M \rightarrow M_G$ is right exact

$$\text{exact } 0 \rightarrow M' \rightarrow M \rightarrow M'' \rightarrow 0$$

A G -module N is projective if

$$\Rightarrow M'_G \rightarrow M_G \rightarrow M''_G \rightarrow 0$$

any hom $N \rightarrow M'$ lifts to some $N \rightarrow M$.

$$M' \rightarrow M \rightarrow 0$$

\vdots

$$N \rightarrow M$$

exact

Using projective resolutions

$$\dots \rightarrow N_1 \rightarrow N_0 \rightarrow M \rightarrow 0$$

can take $H_i(G, M)$

H_i relative

$$\dots \rightarrow N_{1G} \rightarrow N_{0G} \rightarrow 0$$

$$H_0(G, M) = M_G$$

Note: every free $\mathbb{Z}(G)$ -module is projective!

Fun with H_1

$M = \mathbb{Z}$ Integral Group.

$$0 \rightarrow I_G \rightarrow \mathbb{Z}(G) \rightarrow \mathbb{Z} \rightarrow 0$$

injective

long exact sequence

$$\dots \rightarrow H_1(G, \mathbb{Z}(G)) \rightarrow H_1(G, \mathbb{Z}) \rightarrow 0$$

$$\hookrightarrow H_{i-1}(G, I_G) \rightarrow \dots$$

$$H_1(G, \mathbb{Z}(G)) \rightarrow H_1(G, \mathbb{Z}) \rightarrow I_G / I_G^2 \rightarrow \mathbb{Z} \cong \mathbb{Z} \rightarrow 0$$

\searrow
 0

$$G^{ab} \cong I_H I_G^2$$

$$= G / \langle G, G \rangle$$

(reverse)
 $M \subseteq G$

$$g \rightarrow [g] \rightarrow 1$$

$$H_1(G, \mathbb{Z}) \cong G^{ab}$$

The norm map

$G = \text{finite group}$

Let $M = G$ -module

$$\text{Norm}_G: M \rightarrow M$$

$$\text{Norm}_G(m) = \sum_{g \in G} m \cdot g$$

$$H^0(G, M) = M_G \rightarrow M^G$$

$$H^0(G, M)$$

$$\text{Norm}_G(m^h - m) = \sum_{g \in G} m^h \cdot g$$

$$= 0$$

$$= \sum_{g \in G} m \cdot g$$

The Tate cohomology groups

$$H_T^i(G, M) = \begin{cases} H^i(G, M) & i > 0 \\ M^G / N_{\text{orm}_G(M)} & i = 0 \\ \ker(N_{\text{orm}_G}) / M \underline{\underline{I}}_G & i = -1 \\ H_{-i-1}(G, M) & i < -1 \end{cases}$$

The long exact sequence for Tate cohomology

For any SES $0 \rightarrow M' \rightarrow M \rightarrow M'' \rightarrow 0$
 of G -mod \mathbb{Z} set

long exact sequence

$$\cdots \rightarrow H_T^{i-1}(G, M'') \rightarrow H_T^i(G, M') \rightarrow H_T^i(G, M) \rightarrow H_T^i(G, M'')$$

$$\rightarrow H_T^{i+1}(G, M'') \rightarrow \cdots \rightarrow H_T^1(G, M'')$$

$$\rightarrow H_T^{-1}(G, M'') \rightarrow H_T^{-1}(G, M) \rightarrow H_T^{-1}(G, M'')$$

$$\hookrightarrow H_T^0(G, M') \rightarrow H_T^0(G, M) \rightarrow H_T^0(G, M'')$$

$$\hookrightarrow H^{-1}(G, M') \rightarrow H^{-1}(G, M) \rightarrow H^{-1}(G, M'') \rightarrow \cdots$$

The cyclic case: Tate's periodicity theorem

Now $G = \text{Ker } \chi$, the cyclic = $\langle g \rangle$

Thm: \exists canonical isomorphism $\forall i \in \mathbb{Z}$
functorial $\forall M$.

$$H_T^i(G, M) \cong H_T^{i-2}(G, M)$$

Proof of Tate's theorem

$$B^1 G = \langle \sigma \rangle \quad \text{is cyclic}$$

is exact

$$0 \rightarrow \mathcal{R} \rightarrow \mathcal{R}(G) \rightarrow \mathcal{R}(G) \rightarrow \mathcal{R} \rightarrow 0$$

$$(h) \rightarrow (h\sigma) \rightarrow (h)$$

$$1 \rightarrow \sum_{h \in G} (h)$$

indeed in what does

$$H_T^1(G, \mathcal{R}) \cong H_T^1(G, \mathbb{Z}) \cong H_T^1(G, \mathcal{R})$$

The Herbrand quotient

G cyclic

$$0 \rightarrow M' \rightarrow M \rightarrow M'' \rightarrow 0$$

↳ long exact sequence

$$\rightarrow H_T^1(G, M) \rightarrow H_T^1(G, M'')$$

$$H_T^1(G, M') \subseteq H_T^1(G, M)$$

$$\downarrow H_T^0(G, M)$$

$$\downarrow H_T^0(G, M'') \leftarrow H_T^0(G, M)$$